


Chapter 1 Functions

1. (a) On the axes below, sketch the graph of , showing the𝑦 = 5𝑥 − 7| |
coordinates of the points where the graph meets the coordinate axes.

[3]

(b) Solve 5 5𝑥 − 7| | − 1 = 14.

[3]
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y
=5x - 7

x=0,y
=
-

7(0,- 7)

y =0,0=5x
- 7

7-
7 =5x

x =E =1.4

1.4

5/5x-71 =15

15x - 71 =
3

54-7 =
3 or 52-7=-3

5x =4
5x =10

x =1
x =
2 5



2. (i) for𝑔(𝑥) =  3 + 1
𝑥 𝑥 ≥ 1.

a. Find an expression for 𝑔−1(𝑥).

[2]

b. Write down the range of 𝑔−1(𝑥).

[1]

c. Find the domain of 𝑔−1(𝑥).

[2]
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y =3+Yx

x =3 +I
x- 3 =5
y =as
g(x) =1

x- 3

y =1

3<x4



3. for𝑓(𝑥) = (2𝑥 + 3)2 𝑥 > 0

a. Find the range of .𝑓

[1]

b. Explain why has an inverse.𝑓

[1]

c. Find 𝑓−1.

[3]

d. State the domain of 𝑓−1.

[1]

e. Given that for , find the exact solution of𝑔(𝑥) = 𝑙𝑛 (𝑥 + 4) 𝑥 > 0 𝑓𝑔(𝑥) = 49.

[3]
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y)9

- is a one to one function

y =(2x
+3)

2

x =(2y +3)

a =24 +3

5 - 3 =24

y =x
Jin=

x)9

fg(x) =49 x =e
-4

f((ncu +4)) =49 SIn (x+y) =f(49)

In(x +4) =7
In(x +4) = 2

2
x +4 =e



4. for𝑔(𝑥) = 𝑥 + 5 𝑥ϵℝ

forℎ(𝑥) = 2𝑥 − 3 𝑥 > 3
2

Solve 𝑔ℎ(𝑥) = 7 .

[3]

5. Solve 3𝑥 − 2| | = 4 + 𝑥.

[3]
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g(- 3) =7

2- 3 +5 =7

-3 =2

2x- 3
=4

2x =7

x =E

3x- 2 =- 4 - x
or

3x-2 =4+x
4x =
- 2

2x =6
x =

- t
x =3


